

# **VOLLEYBALL**

# **BULLETIN 5**

24th August 2017





### P-2 VOLLEYBALL • Match result

# 29th SEA Games KL 17 Women's Vball Championship Preliminary Round

700



Match: 3 Date: 24/08/2017 Spectators:

City: Kuala Lumpur Hall: MITEC Hall 11

Match duration: Start: 12:00 End: 12:58 Total: 0:58

Teams	Sets	1	2	3	4	5	Total
MYA	0	8	10	13			31
THA	3	25	25	25			75
Set	duration	0:17	0:17	0:18			0:52

#### Referees: JEON YOUNG-A (KOR) & INTAN ERISHA (MAS) MYA • Myanmar 1 2 3 4 5 Pts THA • Thailand 1 2 3 4 5 Pts 1 L Moe Nant Sandar Pannoy Piyanut LL 2 Than Ohmar 5 Guedpard Pornpun Htet Htet 5 Thinkaow Pleumjit Htay San San 5 4 Bamrungsuk Hattaya 6 San Moe Moe 9 9 Bundasak Jarasporn 5 Soe Phyu Thwe Apinyapong Wilavan 6 8 Phyo Ei 12 Chaisri Tapaphaipun 6 9 L Lwin Su Thandar Tomkom Nootsara Kham Nang 16 Kokram Pimpichaya 5 12 Hlaing Zar Zar Boonlert Tichaya 1 17 6 16 Khaing Thandar Kongyot Ajcharaporn 18 14 17 Myint Aye Nandar 4 19 Moksri Chatchu-On 11 Coach: Thein Swe (MYA) Coach: Danai Sriwacharamayt (THA) Assistant: Kyaw Soe Aung (MYA) Assistant: Nataphon Srisamutnak (THA)

#### **TEAMS AND PLAYERS PERFORMANCES**

Won Pts	Total Atts	No Name	Scoring Skills	Won Pts	Total Atts	No Name
19	92	Total Team		45	84	Total Team
9	31	6 San Moe Moe	0	12	14	18 Kongyot Ajcharaporn
4	31	2 Than Ohmar	Spike	9	14	19 Moksri Chatchu-On
3	11	17 Myint Aye Nandar		5	8	10 Apinyapong Wilavan
2	59	Total Team		12	50	Total Team
1	4	2 Than Ohmar	Disak	3	3	12 Chaisri Tapaphaipun
1	20	5 Htay San San	Block	3	7	17 Boonlert Tichaya
				2	8	7 Bamrungsuk Hattaya
2	33	Total Team		5	73	Total Team
1	8	5 Htay San San		3	9	7 Bamrungsuk Hattaya
1	6	17 Myint Aye Nandar	Serve	1	9	18 Kongyot Ajcharaporn
				1	16	10 Apinyapong Wilavan
8		Total Team	Opp. error	13		Total Team
31	184	Total Team	Total	75	207	Total Team
9	42	6 San Moe Moe	Best Scorer	14	33	18 Kongyot Ajcharaporn

■ Starting line-up
□ Substitute
Opp = Opponent

Pts = Points scored Atts = Attempts nn = Captain L = Libero

Name game jury president: ....

Signaturo













### P-2 VOLLEYBALL • Match result





Match: 4 Date: 24/08/2017 Spectators: 1,153

City: Kuala Lumpur Hall: MITEC Hall 11

Match duration: Start: 14:00 End: 15:14 Total: 1:14

Teams	Sets	1	2	3	4	5	Total
PHI	3	25	25	25			75
MAS	0	18	11	16			45
Set	0:25	0:21	0:22			1:08	

PHI • Philippines	1 2 3 4	5 Pts	MAS • Malaysia	1 2 3 4 5	Pts
1 Dimaculangan Rhea Katrina Alinea 2 Valdez Alyssa Caymo 3 Santiago Alyja Daphne Antonio 5 Reyes Mika Aereen Marcalinas 6 Gonzaga Jovelyn Segobre 7 Molina Frances Xinia Dionisio 8 Pontillas Aiza Maizo 9 Fajardo Kim Alano 10 Ortiz Maika Angela Carino 12 Casugod Geneveve Gerial 15 L Macandili Dawn Nicole Lirio 16 Marano Abigail Palmares		2 8 13 2 9 1 6 6 4	1 Aishwini Thevar Arulnathan 6 Wong Wee Yan 7 Mandy Chiu Hua Yun 9 Alicia Yii Chii Hui 10 Maida Song Hua Ee 11 Angela Tang Ling Hui 12 L Ting Hui Chin 13 Tasha Mae 15 Eve Tan Yu Fan 16 Ngin Jia Ning 17 Low Mei Cing		1 2 2 6 1 4 15
Coach: Francis John Patrick (PHI) Assistant: Esquibel Brian, Dulay (PHI)		11	Stephanie Law Feng Nie  Coach: Dato Moh Wung Ming (MAS)	••	

#### **TEAMS AND PLAYERS PERFORMANCES**

Won Pts	Total Atts	No Name	Scoring Skills	Won Pts	Total Atts	No Name
43	81	Total Team		17	72	Total Team
11	18	3 Santiago Alyja Daphne	0.11	11	29	17 Low Mei Cing
7	11	6 Gonzaga Jovelyn Segobre	Spike	2	2	7 Mandy Chiu Hua Yun
6	9	8 Pontillas Aiza Maizo		2	18	9 Alicia Yii Chii Hui
7	58	Total Team		7	69	Total Team
3	10	16 Marano Abigail Palmares	D	2	16	11 Angela Tang Ling Hui
1	4	6 Gonzaga Jovelyn Segobre	Block	1	4	18 Stephanie Law Feng Nie
1	14	3 Santiago Alyja Daphne		1	10	17 Low Mei Cing
12	73	Total Team		8	47	Total Team
5	13	9 Fajardo Kim Alano	0	3	8	17 Low Mei Cing
2	7	16 Marano Abigail Palmares	Serve	3	11	11 Angela Tang Ling Hui
1	9	1 Dimaculangan Rhea Katrina		2	6	16 Ngin Jia Ning
13		Total Team	Opp. error	13		Total Team
75	212	Total Team	Total	45	188	Total Team
13	39	3 Santiago Alyja Daphne	Best Scorer	15	47	17 Low Mei Cing

Starting line-up	
Substitute	

Pts = Points scored

nn = Captain

Opp = Opponent

Atts = Attempts

L = Libero

Name game jury president: RUBANG SAK









MİKASA



### P-4 VOLLEYBALL • Collated results & ranking

29th SEA Games KL 17 Women's Vball Championship Results of Thursday, 24 August, 2017



#### **MATCH RESULTS**

**Preliminary Round** 

No	Date		Teams	Set	1	Result 2	per set (p 3	oints) 4	5	Total Points	Time	Spectators
1	23/08/2017	THA	- INA	3-0	25-18	25-16	25-10			75- 44	1:12	500
3	24/08/2017	MYA	- THA	0-3	8-25	10-25	13-25			31- 75	0:58	700

**Preliminary Round** 

No	Date		Teams	Set		Result	per set (p	oints)		Total	Time	Cuantataua
110	Date		1 Callis	Set	1	2	3	4	5	Points	Time	Spectators
2	23/08/2017	MAS	- VIE	0-3	17-25	7-25	11-25			35- 75	1:06	1,200
4	24/08/2017	PHI	- MAS	3-0	25-18	25-11	25-16			75- 45	1:14	1,153

#### TEAM RANKING Preliminary Round

Rk	Code	Team	Matches			Results Details				Points			Sets					
IXK	Oue	Team	Т	W	L	Pts	3-0	3-1	3-2	2-3	1-3	0-3	W	L	Ratio	w	L	Ratio
1	THA	Thailand	2	2	0	6	2	0	0	0	0	0	150	75	2.000	6	0	MAX
2	INA	Indonesia	1	0	1	0	0	0	0	0	0	1	44	75	0.587	0	3	2000
3	MYA	Myanmar	1	0	1	0	0	0	0	0	0	1	31	75	0.413	0	3	

#### **Preliminary Round**

Rk	Code	Team	Matches		Results Details			Points			Sets							
IXIX		ream	T	W	L	Pts	3-0	3-1	3-2	2-3	1-3	0-3	W	L	Ratio	W	L	Ratio
1	VIE	Vietnam	1	1	0	3	1	0	0	0	0	0	75	35	2.143	3	0	MAX
2	PHI	Philippines	1	1	0	3	1	0	0	0	0	0	75	45	1.667	3	0	MAX
3	MAS	Malaysia	2	0	2	0	0	0	0	0	0	2	80	150	0.533	0	6	













Hall:

### P-2 VOLLEYBALL • Match result

### 29th SEA Games KL 17 Men's Vball Championship **Preliminary Round**



**Total** 

76

Date: 24/08/2017 Match: 9 City: Kuala Lumpur

MITEC Hall 11

Spectators:

1,500

VIE

7

**Teams** Sets 1 2 3 4 INA 3 26 25 25

24

0 Set duration 0:29

20 64 0:27 0:27 1:23

Referees: JIRASAK PUMDUANG (THA) & YEAP PEH KEH

Match duration: Start: 17:00 End: 18:29 Total: 1:29

Indonesia	1 2 3 4 5	Pts
Seganti Agung		11
Ardian Sigit		3
Nurcahyadi Mahfud		3
Zulfikri Dio		
Bertiyawan Antho		5
Dwi Putra Heryanto Delly	TIT	_
Haryono Doni		
Zulfi Hernanda		
Febriant Tamamilang Rendy		18
Nurmulki Rivan		25
Huda Ramzil		
Maulana Aji		
	Seganti Agung Ardian Sigit Nurcahyadi Mahfud Zulfikri Dio Bertiyawan Antho Dwi Putra Heryanto Delly Haryono Doni Zulfi Hernanda Febriant Tamamilang Rendy Nurmulki Rivan Huda Ramzil	Seganti Agung Ardian Sigit Nurcahyadi Mahfud Zulfikri Dio Bertiyawan Antho Dwi Putra Heryanto Delly L L L Haryono Doni Zulfi Hernanda Febriant Tamamilang Rendy Nurmulki Rivan Huda Ramzil

(MA	S			
VIE	•	Vietnam	1 2 3 4 5	Pts
1		Huynh Trung Truc	ПП	
2	L	Nguyen Xuan Thanh		
3		Giang Van Duc		1
4		Nguyen Hoang Thuong		3
5		Pham Thai Hung		4
6		Ngo Van Kieu		10
-				

20

Tu Thanh Thuan 11 Nguyen Vu Hoang Le Thanh Hac 12

Vu Hong Quan 14 15 Hoang Van Phuong Nguyen Truong Giang

6 14

Coach: Samsul Jais (INA) Assistant: Andri Widiyatmoko (INA)

Coach: Phung Cong Hung (VIE) Assistant: Le Hong Hao (VIE)

#### **TEAMS AND PLAYERS PERFORMANCES**

Won Pts	Total Atts	No Name	Scoring Skills	Won Pts	Total Atts	No Name
52	89	Total Team		39	97	Total Team
22	34	12 Nurmulki Rivan	0 "	12	26	15 Hoang Van Phuong
14	25	11 Febriant Tamamilang Rendy	Spike	9	19	6 Ngo Van Kieu
9	15	2 Seganti Agung		6	15	12 Le Thanh Hac
11	81	Total Team		7	77	Total Team
4	16	7 Bertiyawan Antho	Disale	2	10	5 Pham Thai Hung
3	13	12 Nurmulki Rivan	Block	2	8	15 Hoang Van Phuong
2	11	11 Febriant Tamamilang Rendy		2	18	11 Nguyen Vu Hoang
2	74	Total Team		3	66	Total Team
2	18	11 Febriant Tamamilang Rendy	C	1	10	3 Giang Van Duc
			Serve	1	7	5 Pham Thai Hung
				1	10	6 Ngo Van Kieu
11		Total Team	Opp. error	15		Total Team
76	244	Total Team	Total	64	240	Total Team
25	59	12 Nurmulki Rivan	Best Scorer	14	40	15 Hoang Van Phuong

Starting line-up ☐ Substitute Opp = Opponent

Pts = Points scored Atts = Attempts

nn = Captain L = Libero

Name game jury president: SHANRIL
Signature: Shannil W.







MÎKASA



## P-2 VOLLEYBALL • Match result



1,650



Date: 24/08/2017 Match: 10 Spectators:

City: Kuala Lumpur Hall: MITEC Hall 11

Match duration: Start: 19:00 End: 20:39 Total: 1:39

Teams	Sets	1	2	3	4	5	Total
MAS	0	18	19	30			67
THA	3	25	25	32			82
Set	duration	0:24	0:24	0:35			1:23

MAS • Malaysia	1 2 3 4	5 Pts	THA • Thailand	1 2 3 4 5	5 Pts
1 Ranjit Ramu 5 L Lee Yeh Seng 6 Gee Jia Wei 7 Shon Ngiap Shyang 8 Muhammad Nazreen Nazaruddin 9 Mohd Aizzat Mohd Zokri 10 Sim Jian Qin 11 Cheoh Jia Ming 12 Adrian Tan Phang Han 13 Khairol Shazrime Shamsaimon 17 Chia You Jing 18 Yap Kent Bin		7 4 3 11 17	1 Raksakaew Jirayu 4 Saengsee Kitisak 5 Nilsawai Kissada 8 Chandahuadong Chakkit 9 Sri-Utthawong Kittikun 10 Namkhunthod Kittinon 12 Pakdeekaew Anuchit 13 Maneewong Mawin 14 Somkane Kitsada 16 Koonmee Kantapat 17 Charoensuk Saranchit 18 L Phuanglib Montri		16 19 3 4 5 1 8

### **TEAMS AND PLAYERS PERFORMANCES**

Won Pts	Total Atts	No Name	Scoring Skills	Won Pts	Total Atts	No Name
38	89	Total Team		42	83	Total Team
15	40	10 Sim Jian Qin	Cuille	13	18	5 Nilsawai Kissada
11	22	9 Mohd Aizzat Mohd Zokri	Spike	12	18	1 Raksakaew Jirayu
6	13	1 Ranjit Ramu		7	17	14 Somkane Kitsada
5	71	Total Team		10	82	Total Team
2	7	10 Sim Jian Qin	Disale	5	26	5 Nilsawai Kissada
1	12	8 Muhammad Nazreen	Block	1	9	9 Sri-Utthawong Kittikun
11	22	18 Yap Kent Bin		1	1	13 Maneewong Mawin
5	68	Total Team		5	81	Total Team
4	15	13 Khairol Shazrime	0	3	11	1 Raksakaew Jirayu
1	12	1 Ranjit Ramu	Serve	1	12	5 Nilsawai Kissada
				1	9	17 Charoensuk Saranchit
19		Total Team	Opp. error	25		Total Team
67	228	Total Team	Total	82	246	Total Team
17	56	10 Sim Jian Qin	Best Scorer	19	56	5 Nilsawai Kissada

	Starting line-up
	Substitute
Op	p = Opponent

Pts = Points scored

nn = Captain

L = Libero

Atts = Attempts

Name game jury president: GIN MRUNG ASE













## P-4 VOLLEYBALL • Collated results & ranking



29th SEA Games KL 17 Men's Vball Championship Results of Thursday, 24 August, 2017

#### **MATCH RESULTS**

**Preliminary Round** 

No	Date		Teams	Set		Result	per set (	Total	Ti	0			
NO	Date	I callis		Set	1	2	3	4	5	Points	Time	Spectators	
1	21/08/2017	MYA	- THA	0-3	22-25	19-25	27-29			68- 79	1:23	550	
3	21/08/2017	MAS	- CAM	3-0	25-18	30-28	25-17			80- 63	1:30	1,500	
5	22/08/2017	THA	- CAM	3-0	25-13	25-19	25-17			75- 49	1:12	500	
6	22/08/2017	MYA	- MAS	3-2	25-23	20-25	25-22	20-25	17-15	107-110	2:26	1,532	
10	24/08/2017	MAS	- THA	0-3	18-25	19-25	30-32			67- 82	1:39	1,650	

**Preliminary Round** 

No	Date		Teams	Set		Result	per set (	Total	т:	0			
NO		Teams		Set	1	2	3 4		5	Points	Time	Spectators	
2	21/08/2017	PHI	- VIE	0-3	19-25	21-25	20-25			60- 75	1:27	700	
4	22/08/2017	INA	- TLS	3-0	25- 9	25- 6	25- 8			75- 23	0:53	800	
7	23/08/2017	VIE	- TLS	3-0	25- 8	25-13	25-11			75- 32	0:57	700	
8	23/08/2017	PHI	- INA	1-3	21-25	25-23	33-35	21-25		100-108	2:15	955	
9	24/08/2017	INA	- VIE	3-0	26-24	25-20	25-20			76- 64	1:29	1,500	

#### TEAM RANKING Preliminary Round

Rk	Code	Team	Г	Mat	che	s	Results Details						Points				Sets		
TXIX		ream	T	W	L	Pts	3-0	3-1	3-2	2-3	1-3	0-3	W	L	Ratio	w l	L	Ratio	
1	THA	Thailand	3	3	0	9	3	0	0	0	0	0	236	184	1.283	9	0	MAX	
2	MAS	Malaysia	3	1	2	4	1	0	0	1	0	1	257	252	1.020	5	6	0.833	
3	MYA	Myanmar	2	1	1	2	0	0	1	0	0	1	175	189	0.926	3	5	0.600	
4	CAM	Cambodia	2	0	2	0	0	0	0	0	0	2	112	155	0.723	0	6		

**Preliminary Round** 

Rk	Rk Code	Team	Matches					Results Details						Points				Sets		
IXIX		ream	T	W	L	Pts	3-0	3-1	3-2	2-3	1-3	0-3	W	L	Ratio	w	L	Ratio		
1	INA	Indonesia	3	3	0	9	2	1	0	0	0	0	259	187	1.385	9	1	9.000		
2	VIE	Vietnam	3	2	1	6	2	0	0	0	0	1	214	168	1.274	6	3	2.000		
3	PHI	Philippines	2	0	2	0	0	0	0	0	1	1	160	183	0.874	1	6	0.167		
4	TLS	Timor-Leste	2	0	2	0	0	0	0	0	0	2	55	150	0.367	0	6			









